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Instructions for the candidates:

1. g¥&r=ff OMR v 93& Gv 397 99 RasT HH1E (10 3B #]) 3799
ferdd /
Candidates must enter his/her Question Booklet Serial No. (10 Digits) in the
OMR Answer Sheet.

2. gerreff Fergya ag gt d & 9TV ]/

Candidates are required to give answers in their own words as far as
practicable.

3. Il 3V ERMY uv 7T §V 3% quiia [Afde @vd &/
Figures in the right hand margin indicate full marks.

4. FoTI B qrTYdE GG F 11y gYEnrgr @l 15 [HaC BT SaNd wHT 1791
T &)

15 minutes of extra time have been allotted for the candidates to read the
questions carefully.

5. J8 ¥ gRa®T &l @vsl 4 & - @Ue—3 VT @Us—7/

This Question booklet is divided into two sections-Section-A and Section-B.
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H JIRT BV FATE 3T GAHET TR FHI=T 81T/

In section A there are 100 objective type questions out of which only 50

questions are to be answered. If more than 50 questions are answered, then
only first 50 questions will be evaluated. Each question carries one mark.
Darken the circle with blue/black ball pen against the correct option on the
OMR Answer Sheet provided to you. Do not use whitener/liquid/blade/nail etc.
on OMR Answer sheet /otherwise the result will be treated invalid.

1. @& 4 30 THFTIT 797 &/ o775 & g% F 2 3 HRT & for7H &
faedt 156 eI &1 BV &7 AT &1 TP SaRET 3 @vs 4 8 e
TTIT F97 1o T & for7H H 8] 4 F9] @7 STV & 8/ AP HIT B
forv 5 3w [FERa &/

In Section-B, there are 30 sheet answer type questions, each carrying 2 marks,

out of which any 15 questions are to be answered. Apart from this, there are 8
long answer type questions, each carrying 5 marks, out of which any 4
questions are to be answered.

8. ¥ GBI @ Feideii1H SYBNT BT FIIT qUTAT dfoid &/

Use of any electronic appliances is strictly prohibited.




Wus — 3/ SECTION-A
I&JI-S U/ Objective Type Questions

T G&IT 1 & 100 TF & T & G IV dpey 9 79 8 o775 & v weh
&/ 12T 50 F971 & @71 TV 397 G g7 TV &1 [adey & OMR ¥ gv
fafeaa &Y/ 50 x1 =50

Questions nos. 1 to 100 have four options, out of which only one is correct.
Answer any 50 questions. You have to mark your selected option on the OMR-

Sheet. 50x1=50
1. QUi STHIH ITH &I URWET & T8 &
(A) =T g (B) = gx
(C) @Me grRI (D) AT gRI

Tatpurvakam Aumanam is the definition of inference given by:

(A) Samkhya (B) Nyaya

(C) Vaisheshika (D) Yoga
2. “qeaferamor forar T &

(A) A gRT (B) T NI

(C) daraHfd gRI (D) g9 ¥ & & gRT 718

‘Tattvachintamani’ is written by:

(A) Gautama (B) Gangesh

(C) Vachaspati (D) None of them
3. It <9 & AR I9E & YDR o

(A) (B) =R

(C) dr= (D)

The kinds of Abhava according to Vaisheshika:

(A) Two (B) Seven

(C) Five (D) Four

4, I P g fbd= v B TeR fhar Tar g ?



(A) Ud (B) @I
(€) o (D) ST W B LN

How many Pramanas ae accepted by Nyaya?

(A) One (B) Two

(C) Three (D) None of these
5. 9" T @ AR UPA H ot qor 7 ?

(A) (B) =

(C) =R (D) 3ms

How many qualities are in Prakriti according to Sankhya Philosophy?

(A) Two (B) Three

(C)  Four (D)  Eight
6. BfUc fbd TI[ & yads © ?

(A) M g3+ (B) dlg s34

(C) o TE= (D) = <3+

Which Philosophy has been expounded by Kapil ?

(A) Nyaya Philosophy (B) Buddhism

(C) Jainism (D) Samkhya Philosophy
7. f&a BT Sirq fear € 2

(A) ®fUa T (B) A A

(C) Pvne (D) T ¥ FIS e

Who said that the world is unreal?

(A) Kapil (B) Gautam

(C) Kanad (D) None of these

8. W& T & AR, TP

(A) e (B) 3r@ad
(C) wfddcas (D) T8 ¥ wofi



According to Samkhya Philosophy, Prakriti is:

(A) Unmanifested (B) Unconscious

(C) Impersonal (D) All of these
9. YA B AR, T ¥

(A) e (B) @i

©) (D) D

According to Shankara, the Brahman is

(A) Matter (B) Unconscious

(C) One (D) Many
10.9RA™ AEHENT H, 3rgerel |9 $EdT ©

(A) AT (B) I

© A (D) AT

In Indian Epistemology, invalid cognition is called:

(A) Pramana (B)  Prameya
(C)  Prama (D)  Aprama
11.3f et Afsred ST S+ et uoaet & gRreT & T8 &
(A) ~aTg gNT (B) SN gm™
(C) W= gwI (D) dig g

'Indriartha sannikarsa Janyam Jnanam pratyaksam' is the definition of

perception given by:

(A) Nyaya (B)  Jaina

©) Sankhya (D)  Buddha
1289941 BT fAwgeRg AT & ?

(A) “foemes (B) &HIITA

(C)  (A) T (B) &I (D) ST | PIS T

What is the subject matter of Dhammapad ?
(A)  Ethics (B)  Religion



(C)  Both (A)and (B) (D)  None of these
13.95 @ Afas Rrer dufza =)

(A) gAfUes d§ (B) faTaftcs H

(C) e fies # (D) T 9 P T8l

Moral teachings of Buddha are collected in:

(A) Suttapitak (B) Vinayapitak

(C) Abhidhammapitak (D) None of these
14155 AT BT HHIRS Pel B 2

(A) o= 9 = (B) HEH Tl 7

(C) &= foe®s = (D) S8 9 dIs T8l

Who has said Geeta as a science of action?

(A)  Vinoba Bhave (B)  Mahatma Gandhi

(C) B.G.Tilak (D)  None of these
155 TacEiar 9 @t fhae aeamy &7

(A) 3md (B) <4

(C) oGRE (D) d9EH
16.9_AF T4 ©

(A) foRremared (B) <magiR®

(C) IATETRD (D) UR&HIATHD

Indian Philosophy is:

(A)  Pessimistic (B)  Practical

(C)  Impractical (D)  Speculative
17.3197d et &1 Ieotd b <3 H [ferdn @

(A) M SIF H (B) dig 39 H

(C) Juf¥® <= 4 (D) O T |

In which Philosophy the description of Abhava Padarthas in mentioned?
(A)  Nyaya Philosophy (B)  Buddhism



(C)  Vaisheshika Philosophy (D) Jainism
18.9€ & 9 i # Hfaq & Arf &1 gviq 2°

(A) WM (B) fgdra

(©) i (D) =gt

Which noble truth of Buddha contains the path of liberation?

(A)  First (B) Second

(C)  Third (D)  Fourth
19.9%1® <[ & Jaxie HI § ?

(A) P (B) A

(C) iU (D) udGifer

Who is the founder of Samkhya Philosophy?

(A) Kanad (B)  Gautam

(C©)  Kapil (D)  Patanjali
20.91 T2 & Haxich B 8 ?

(A) o (B) A

(C) uddIer (D) U

Who is the founder of Yoga Philosophy?

(A)  Kapil (B)  Gautam

(C)  Patanjali (D)  Kanad
21,791 &2 B FAM GF DI A & 7

(A) W= T (B) % <3+

(C) INT g9+ (D) dera &3

Which Philosophy is the allied system of Nyaya Philosophy?

(A)  Samkhya Philosophy (B) Vaisheshika Philosophy

(C)  Yoga Philosophy (D) Vedanta Philosophy

22. 9% UG I g9 g qreifae IwIery # I 27



(A)  emRa® # (B) TRaw #

(C) (A)Term (B) <1 # (D) T W BIS T
To which philosophical school Samkhya and Yoga philosophies belong its?
(A)  Orthodox (B)  Heterodox
(C)  Both (A)and (B) (D)  None of these
239 T ¥ FARY A & fba agqyd § ?
(A) @ (B) =
(€) =R (D) =

How many constituents are there in internal organs in Yoga Philosophy?

(A) Two (B)  Three

(C)  Four (D)  Five
24 30T &3 # 9T W & fhaw o@ua g ?

(A) (B)

(€) @SR (D) df

How many constituents are there in External organ’s in Yoga Philosophy?

(A) Two (B) Three

(C)  Four (D)  Five
25.9RI% T2 & SIFAR g uaref fha g ?

(A) o (B) =R

<) @ (D) wra

How many bhava Padarthas are there according to Vaisheshika

Philosophy?

(A)  Three (B)  Four

©) Six (D)  Seven
26.3299qd I o ?

(A) o9 T ® g defex (B) 3rgd dgr=il

(C) IrT €29 & arfl (D) S8 9 dIs T8l



Who was Rishavadav?
(A) First Tirthankar of Jainism (B) Advaita Vedanti
(C)  Yogi of Yoga Philosophy (D) None of these

27. 90T 9 P Aclld ¥ Irfgdr o7 g ?

(A) T4 (B) fram

() U (D) wam

What is non-violence in the context of Yoga Philosophy?

(A)  Yama (B) Niyama

(C) Tapa (D) Contentment
28.31<ifiTes AN o1 Siferd 3T &1 8 ?

(A) @I (B) &Rom

(C) YRR (D) e

What is the last step of Ashtangika Yoga?

(A)  Samadhi (B)  Dharana
(C)  Pratyahar (D)  Dhyan
29. 421 G2 & SIFAR T[OT BT AR FIT 57
(A) HE= (B) fawiy
©) == (D) 3T A BIg e
What is the basis of Guna according to Vaisheshika Philosophy?
(A)  Universal (B)  Particular
©) Substance (D)  None of these
30,9 S | A G Bl RIT HET Al § 2
(A)  Io§ (B) wpfd
(C) (A) @I (B) &I (D) S8 9 dIs T8l

What is the name of conscious reality in Samkhya Philosophy?
(A)  Purusa (B)  Prakriti



(C)  Both (A) and (B) (D)  None of these
31.37 RG3ll & 919 &1 IR &R ifvard dey Fa1 FHgamar § 2

(A) 9919 (B) 3@
(C) =t (D) f~Tpy
What is called the specific and essential relation between two objects ?
(A)  Existence (B)  Non-existence
(C)  Vyapti (D)  Contact
32.dlg T ¥ G H BRI A 1 T BT qdAr 77 T ?
(A) W B) fad
(©) i (D) =gt
In which noble truth the cause of suffering is pointed out in Buddhism?
(A) First (B) Second
(C) Third (D) Fourth
33. MNP <A & AR T Dl GT fail 2 2
(A) @R (B) 3IC
(€ = (D) TRE

What is the number of Dravya according to Vaisheshika Philosophy?

(A) Four (B) Eight

(C) Nine (D) Eleven
3491 I H WA w1 g 7

(A) I4 (B) frH

(C) mad (D) &

What is study in Yoga Philosophy?

(A) Yama (B) Niyama

(C) Asana (D) Dhyana
35.F H 9 B9 ARG g § ?

(A) N7 g3 (B) W= <3



(C) = 3 (D) 3TH | ®Ig e

Which of the following is the heterodox Philosophy?

(A) Yoga Philosophy (B) Sankhya Philosophy

(C) Nyaya Philosophy (D) None of these
3651 59 <29 @ yadid © °

(A) g IE S (B) I A B

(C) =¥ TEE & (D) ST 9 P T8l

Which Philosophy has been expounded by Jaimini ?

(A) Samkhya Philosophy (B)  Yoga Philosophy

(C) Nyaya Philosophy (D) None of these
37.919 &3 @ S fdUR ®1 w1 bEd § 2

(A) HIar] (B) MHIIATE

(C) gdars (D) aTgdare

What is called the epistemological view of Jaina Philosophy?

(A) Syadvada (B) Anekantavada

(C) Dualism (D) Advaitavada
38.7AR & S W ATARING < T § ?

(A) s (B) el gee

(C) S (D) T 9§ ®Ig el

What is practical reality in the Philosophy of Shankara?

(A) Brahman (B) Nirguna Ishwara

(C) World (D) None of these
39. R # | B dig g2 a1 Rigra 8 7

(A) gadg (B) Edare

(C) RavATE (D) T 9§ ®Ig el

Which of the following principles does belong to Buddhism?



(A) Dualism (B) Advaitavada

(C) Ishvarvada (D) None of these
4095l @ AR Al @ Hw fha 2 2
(A) TR (B) dr=
) @ (D) =
According to Patanjali numbers of Niyama are?
(A)  Four (B)  Five
(C) Six (D)  Nine
41,59 T B AAR TS BT el e a1 2 ?
(A) TR (B) &
(€) fasian (D) TSI
What is the etymological meaning of 'Jina' according to Jainism?
(A)  Teacher (B)  Emperor
(C)  Conqueror (D) King
42 <gTHare &1 g fhaadr § 2
(A) dig 31 @1 (B) O <3 @
(C) =raled g9 &1 (D) =g T &I
Dehatmavada is propounded by:
(A)  Buddhism (B)  Jainism
(C)  Charvaka Philosophy (D)  Samkhya Philosophy
43,88l gall & gel—dgl 317 8 fheT Iarevor & ?
(A) I (B) fawiw
(©) (D) 7 ¥ BIg 7l
‘Where there's smoke there's fire' it is an example of:
(A) Samsaya (B) Viparyaya
(C) Tarka (D) None of these

44 379, I91 IR TH T &



(A) sE D (B) TIR &

C) IS (D) wPfd &
Sattva. Raja and Tama are attributes of:

(A)  Brahma (B)  God
(C)  Purusha (D)  Prakriti

45.3MRdd AR RIS TIF BT g IRAI TS § fba MR wR e
T 87

(A) T ¥ fawam (B) e H fawary

(C) ¥ ¥ fdwam (D) ¥R ¥ faward

What is the criterion of classification of Indian schools as orthodox and

heterodox Philosophy?

(A)  Belief in substance (B)  Belief'in soul

(C)  Belief in Vedas (D)  Beliefin God
46,981 6 <39 ¥ T g 7

(A) O | (B) dT ¥

(C) w99 (D) dI§ 9

To which Philosophy is Mahayan related ?

(A)  Samkhya (B)  Yoga

(C)  Jainism (D)  Bauddha
47. 1% HU8 & AR &1 91 ILeg © ?

(A) fad fa9y &1 Heamr (B) "NI§ Ifqqdl BT Bl

(C) 9 dld & fdadl B (D) T 9 DI Al

‘D eYTuT

What is the objective of the concept of ‘Lok Sangraha’?

(A)  Welfare of the individual (B) Welfare of the poor

(C)  Welfare of the people of (D)  None of these
this world



48.31qdR PT YR Gefd 2 |

(A) =T 9 (B) & A |

(C) wTag ar | (D) STH 9 DI A8l

The concept of Incarnation is related to:

(A)  Nyaya Sutra (B)  Brahma Sutra

(C)  Bhagavad Gita (D)  None of these
49 Tari—fear & FEd R ST UE HH H AMT T HEAd & 7

(A) YV (B) <«

(C) ey (D) &ren

By controlling the breathing process and establishing it in order is known

as ?

(A)  Pranayam (B)  Dhyan

(©) Samadhi (D)  Dharana
50.frfRad # 9 B qowe @ ora o & ?

(A) o (B)

€ =M (D) ST | PIS T

Which of the following comes within Purusartha?

(A) Love (B)  Truth

(C)  Enjoyment (D)  None of the above
51.9%F & AR 39 ©

(A) P (B) ¥ad

© v (D) ST | BIS I

According to Samkhya Philosophy, Purusha is:

(A)  One (B)  Conscious

(C)  Matter (D)  None of these

52.99 3R IRR & I <HRI A YR & Fde Bl IR B & 7
(A) wTRd (B) ATTARAIg



(C)  fradearg (D) ST 9 ®IE e

What kind of relation does Descartes accept between mind and body?

(A)  Externalism (B)  Parallelism

(C)  Determinism (D)  None of these
53.79 3R IR & g RO f5d IeR & dde 3 AR - 8 2

(A) FHEFRA (B) srfharars

(C) Fieare (D) T A BIS T

What kind of relation does Spinoza accept between mind and body?

(A)  Parallelism (B)  Interactionism

(C)  Externalism (D)  None of these
54, 39aaIEAl @ TTAR T B WHY FT & 7

(A) 4= (B) <

(C) i (D) faf¥=a

What is the nature of knowledge according to Empiricists?

(A)  Novel (B)  Universal

(C)  Necessary (D)  Certain
55.gfganedl & ATAR A B WHT a1 & 2

(A) ff¥=a (B) arfard

(C) <rgHH (D) S8 & 9l

What is the nature of knowledge according to Rationalists?

(A)  Certain (B)  Necessary

(C)  Universal (D)  All of these

56.fb4 gfgara! arife = el € fd fafd~ wread 8 87

(A) <THR A
(C) ofrgsHIST F

(B) Rudrr 7
(D) T ¥ FIE T

Which rationalist thinker has said that monads are eternal?



(A)  Descartes (B) Spinoza
(C)  Leibnitz (D)  None of them

57.®19C & IHEdE R Y99 2

(A)  3rg¥are B (B) dfgarg &1

(C)  (A) T (B) &Il @ (D) ST 9 PIS T

On the criticism of Kant there is influence of:

(A)  Empiricism (B)  Rationalism

(C)  Both (A)and (B) (D)  None of these
58.9%Ja1s [ TR & g & Hafed & ?

(A) dEHANT | (B) SIHIART |

(C) (AT (B) &l ¥ (D) ST | BIS T

To what kind of thought is realism related?

(A) Metaphysics (B) Epistemology
(C) Both (A) and (B) (D) None of these
59.f9 TRIM® & JJAR S Wad [FRue, fateror sk de+ 2 ?
(A) b & AR (B) ddel & IMTAR
(C) T @ AR (D) 7 9 B TE

Which thinker has regarded substance as independent absolute, unique

and universal?

(A) Locke (B)  Berkeley

(C) Hume (D)  None of them
60.f0aR 3R fRAR &1 $IR BT 07 fast A1 & ?

(A) <THE A (B) Rudrer 7

(C) dgE-I o (D) TPt A

Who has regarded thought and extension as the attributes of God?
(A)  Descartes (B)  Spinoza



(C)  Leibnitz (D) Berkeley
61.fFrefeiad Rigrl § | &I I8 dar © fd germel s+ A« aiiR

3ffrard sram 87

(A) &A= (B)  3rgHadrs

(C) vIars (D)  a¥gars

Which one of the following theories holds that real knowledge is
universal and necessary?
(A) Rationalism (B)  Empiricism
(C) Idealism (D) Realism
62.FrfetRad Rigredl § & @19 I8 A1 © b &4 &1 vy siar | w@as
BT § 7
(A) TS (B) S
(C) gaure (D) 7 ¥ BIg 7l

Which of the following theories holds that the object of knowledge is

independent of the knower?

(A) Realism (B) Idealism

(C)  Dualism (D)  None of these
63.THAA 3R O BT yfa=idl sl &—

(A) EHE (B) S1fard

(C) (A)Ter (B) i (D)  amTfie

Propositions of Logic and Mathematics are

(A)  Universal (B)  Custom only

(C) Both (A) and (B) (D)  Contingent
64.3HI B TR SR BT TIT ©

(A) TSI (B) P mRId

(C) ITERISTTAvRId (D) STH 9 DI A8l

The idea of God according to Descartes is:



(A) Innate (B)  Fictitious

(C)  Adventitious (D)  None of these
65.FrefeiRaa # 9 free Sanfafa fafer &1 gei9 # s fdar ?

(A) TH A (B) Rudrr 7

(C) @mwe (D) &F 7

Who has propounded the geometrical method in Philosophy?

(A) Descartes (B) Spinoza

(C) Kant (D) Hume
66.f=feIRad # | B Hagard! g ?

(A) @i (B) d@d

(©) = (D) @re

Who among the following is a sceptic?

(A) Locke (B) Berkeley

(C) Hume (D) Kant
67.F7%1 H ¥ I rg9aars &1 gHedd 87

(A) i (B) d@d

(€ =@ (D) 37 & wfl

Who among the following is the supporter of Empiricism?

(A) Locke (B)  Berkeley

(C) Hume (D)  All of them
6819 gigarar 8°

(A) @i (B) d@d

(C) Rerirsm (D) =gH

Who is a rationalist?
(A) Locke (B)  Berkeley
(C)  Spinoza (D) Hume



69.37 | DI UNTHfde S H favare 8l Hrar ?

(A) <o (B) d@d

(C) R (D) dTgEIS

Who among the following does not believe in a priori knowledge?

(A) Descartes (B)  Berkeley

(C)  Spinoza (D)  Leibnitz
70.fw ®ET & ‘g gfd Fcid’?

(A) @i (B) d@d

© = (D) @re

Who has said — ‘Esse-est-percipii’?

(A) Locke (B)  Berkeley

(C) Hume (D) Kant

71.BART 999 AHAYd <TAT IS & FHH 2 | fhdadT B & ?
(A) <THRI B (B) Rue™T @1
(C) difdb &T (D) <TZEAST BT

‘Our mind is like a "Tabula Raja' before experience' whose statement is
this?

(A) Descartes (B)  Spinoza

(C) Locke (D)  Leibnitz

72 .5 STSITd U &l guee fdar ?

(A) df® (B) ddhot A
(C) <&r (D) 'AA
Who refuted the innate ideas?

(A) Locke (B) Berkeley
(C) Descartes (D) Hume

73.°5¥R DI TGRT AGRIEr AT Pal &7



(A) e | (B) <& A

(C) Ruoerom A (D) '@
Who has called God as ‘Natura Naturata’?
(A) Kant (B)  Descartes
(C) Spinoza (D) Hume
74, 9d—10d AR & Ragre &1 ufdure fbar €
(A) <T@ A (B) @f® =
(C) RydreT = (D) e |
The doctrine of pre-established harmony has been propounded by:
(A) Descartes (B)  Locke
(C) Spinoza (D) Leibnitz
75, & AR, IO B FEAT 7
(A) @ (B) =
(€) ¥R (D) =

According to Locke, number of qualities is:

(A) Two (B)  Three

(C) Four (D) Five
76.7d & JTAR TIT B T |

(A) W (B) wifea

(C) WA AR Afea aH (D) SSId

According to Locke, ideas are:

(A) Simple (B) Complex

(C)  Both simple and complex (D) Innate
77.%19€ & AR germed S eIem §

(A) fazeryores (B) SYINUTHS

(C) HIAYITHAS URTIAIAS (D) TTH 9 P T8l



According to kant valid knowledge is:

(A) Analytic (B)  Berkeley

(C)  Synthetic A-priori (D)  None of these
78.f9 TRIM® 7 BT & b e ygAl & i § g6 gl ke

&l 87

(A) df® (B) ddhot A

(C) <@ A (D) @®Ie

Which thinker has said that our reason remains inactive in the creation of

simple ideas?
(A) Locke (B)  Berkeley
(C) Descartes (D) Kant
79.f9A ®el € T glgars &1 oI ufdeary ¥ qoT S9aars &l =

HAergare o BraT 27

(A) <ord A (B) il
(€) ' (D) @roe
Who has said that rationalism ends in dogmatism and expiricism ends in
scepticism?
(A) Descartes (B) Locke
(C) Hume (D) Kant

80. MR ST HoTTell &1 ST &1 UHE HRU 37 § 2
(A) difgs dgfe (B) 9ifas @ o @
(C) IR A (D) ST IRige
What is the main reason for the origin of Indian philosophical system ?
(A) Rational contentment (B)  Search for physical

pleasure

(C)  Social imbalance (D)  Spiritual

discontentment



81. BRI Bl qdTHD AR Furcds St &1 I g a7 8 ?

(A) e (B) Ie &

(€) ' (D) 3w

Who has regarded cause as the combination of positive and negative

conditions?

(A) Mill (B) Kant

(C) Hume (D) Aristotle
82. BRI BT T[OMHD AT FIT 2°

(A) (B)

(C) 3FMIE® (D) S8 9 |+

What is the qualitative character of cause ?

(A) Invariable (B)  Antecedent

(C)  Unconditional (D) All of these
83.4rex RITR 1 v “fcremes &1 wfcrortea fosar © ?

(A) HH® eRA (B) arfd fremex

(C)  Srgorgaa e (D) TTH | BIS

Which Ethics has been propounded by Peter Singer?

(A)  Good (B)  Meta-Ethics

(C) Applied Ethics (D)  None of these
84.*BRY 3R BRI TRMER & | I8 ST &

(A) aRHATHD (B) YUIHAD

(C) (A) T (B) &I (D) ST | BIS T

‘The cause and effect are equal’, it indicates:

(A)  Quantitative (B)  Qualitative

(C) Both (A) and (B) (D) None of these

85.ffdrcaara ifoeme &1 W@ G937 2°
(A) fean (B)  amcTEar



T 9 PR T

Suicide

None of these

JTEROT & IS BT
ST & BIg TR

The 1deals of conduct

None of these

R

T 9 By T

Nyaya

None of these

Aifgar Afdere 4
EAEGIIGIIRNIFC ]

Media Ethics

Afcre gfaa

(C) 91 &= (D)
What is the main problem of medical ethics ?
(A) Violence (B)
(C) Foeticide (D)
86. 7RI fawetyor H_a &
(A) SMERY & WHY B (B)
(C) 3RV & bl &l (D)
Ethics analyses:
(A)  The nature of conduct (B)
(C)  The facts of conduct (D)
87.3Ma PH BI RIETr § 7
(A) e (B)
(C) dAmi® (D)
Who teaches 'Anasakta Karma'?
(A) Gita (B)
(C)  Charvaka (D)
88.959YT &I HARIT BT HaY o
(A)  TIfaRor Aifaems | (B)
(C) fufear Fiftemes | (D)
The problem of pollution is related to:
(A) Environmental Ethics (B)
(C)  Medical Ethics
(D)  Legal Ethics
89.fFforRaa # & fow gfad &1 SRV Jfda w1 <1 d&Har 2 2
(A) s gf (B)
(©) SR o g (D)

faeaiers gfaa



Which of the following arguments can be called causal argument?

(A) Ontological argument (B)  Moral argument
(C)  Teleological argument (D)  Cosmological
argument

90.3ugad RIS BT ORI M &7 & 7

(A) #M® il (B) ¥ A

(C) 3ifer ifaeme (D) ragiRae e

What is the other name of Applied ethics?

(A) Normative ethics (B)  Virtue ethics

(C)  Meta-ethics (D)  Practical ethics
o1.Fr= # | & dIfcas I & Fwdd 7 ?

(A) @e (B) <l

(C) ] (D) =HA

Who among the following is the supporter of ontological argument?

(A) Karit (B)  Descartes

(C) Aristotle (D) Hume
92.f H ¥ 9 &1 Fe 2 fb HRIR faR | sr-ariar eiiad gar g2

(A) s o (B) e gfa

(©) fawagas g (D)  sTSTTaT gfad

Which of the following arguments holds that the existence of God

follows necessarily from the idea of God?
(A)
(©)

93 SREET UH oET B
(A) Hifas o= o
(C) <ITemH &I

Ontological argument

Cosmological argument

Philosophy of Education is a branch of:

(B)
(D)

(B)
(D)

Moral argument

Teleological argument

LRI

HTSTRIRA Dl



(A)  Physics (B)  Psychology

(C)  Philosophy (D)  Sociology
94, qgTaReT Aifdemes &1 favg—awg @ 2°?
(A) IR I e A (B) #ifsar | 1 Afad
R Ry
(C) iIfe vd AHfie g3 (D) ST 9 P T8l

SRS IREAEUIY

What is the subject matter of Environmental ethics?

(A)  Ethical problems related  (B) Ethical problems related to media
to profession

©) Ethical problems related (D) None of these
to physical and mental issues

95.f316T E9F BT MR AT © ?

(A) Topfcrars (B) IeATHAIS

(C) (A)Tem (B) i (D) T ¥ FIS e

What is the foundation of Philosophy of Education?

(A) Naturalism (B)  Spiritualism

(C) Both (A) and (B) (D)  None of these
96.991eRTT & TPHR ¢ |

(A) AAfas (B) #HRI®H

(C) 3maTfoA® (D) S8 & 9l

The type of environment is:

(A)  Physical (B) Mental

(C)  Spiritual (D)  All of these
97.@TAR LM AL BT ©

(A) AR A eI Al & (B) AUR & fORAR &1

(C) WNUR & wW@IAd &l (D) STH 9 @8 76



Business ethics is a study of:

(A) Ethics of business (B)  Expansion of business
(C)  Ownership of business (D)  None of these
98.fhfed ol =R A5’ & oRgd DI & 2
(A) < (B) &TUe
(C) o (D) A
Who is the author of 'Critique of pure Reason' ?
(A) Descartes (B) Kant
(C) Spinoza (D) Hume
99.gfgars iR F9IaTE & THIIT [hdAD T § FHA el © ?
(A) Tri (B) @@
(C) e (D) =
In whose Philosophy the conflict of rationalism and empiricism comes to
an end?
(A) Descartes (B) Locke
(C) Kant (D) Hume
100. dg A 3@ S fod IR B ?
(A) @R (B) <33
(€ (D) 9RE

How many causes of Suffering are there in Buddhism?
(A) Four (B)  Eight
(C) Nine (D) Twelve



©ue—49 / SECTION-B
o SRiI 9e9 / Short Answer Type Questions

Fo7 GE&IT 1 & 30 TH T FAIT & | 74 H [F7F] 15 o7 P GV 7 | FAP
F57 & o1y 2 8% [EiRa & 1 sifda s0 oIl 4 gav @/

15x2 =30
Question Nos. I to 20 are Short Answer Type. Answer any 10 questions. Each

question carries 2 marks. Answer in not more than 50 words each. 15 X 2 = 30

1. 7 IR & FRremardl 87 fader & | 2
Is Indian Philosophy pessimistic? Discuss.

2. INT &2 H AT Bl T YA B 2 2
What is the utility of 'Asana’ in Yoga Philosophy?

3. 3d® < & M ST Ha<d! & A ford 2
Write the name of orthodox Philosophy with its propounder.

4, S e BT T 3 © ? 2

What is the meaning of the word 'Darshan'?

5. AN SR & AFAR IA T § 7 2
What is "Yama' according to yoga Philosophy?

6. TIIATE ¥ Y FT T © 7 2
What do you understand by idealism?

7. UPfa & A<d IO D 1 fRman] g ? 2
What are the features of the Sattva guna of Prakriti?

8. AW I FT 57 2
What is Saptabhangi Naya?

9. gouf & WY H ‘GgH’ BT qUA o | 2

Describe 'Dharma’ as a purushartha?
10,9919 & AR AFATT Bl YRATT T | 2

Giva the definition of inference according to Nyaya.



1.4 H TNT &7 AT B § 7
What is the meaning of renunciation in action?
12. wef=ageare Rigr=r & Fr aef g ?
What is the meaning of the theory of dependent origination?

13 . RIATAN &1 7 ?

What is Pararthanumana ?
14. 91 & ®U H HH P ARAT BN |

Explain Karma as a Padartha.
15. 315q &7 a1 37ef ¢ ?

What is the meaning of non-dual?

16. AT & ITAR FH & GRS < |

Define knowledge according to Empiricism.
17.<r &1 gare] oai bgd 8 ?

Why Descartes is called a dualist?
18.619C & IITAR T BT YRATYT < |

Give the definition of knowledge according to kant.
19.3%R & 3IR<Icd Hael g & Ml Bl o |

Write the names of the proofs for the existence of God.
20.HROTET B IR AR |

Define causation.

21. 77 RYATSIT BT FHMTORAIE ShRI b gddig bl [RTHROT Hdl & °

Does the parallelism of Spinoza eliminate the dualism of Descartes ?
22.3R%] & AT SROT &7 i N |

Describe the efficient cause of Aristotle.
23. AT Afadmdr o gRETT |

Define professional ethics.

24, LTS 4 39 T T3 © 2
What do you mean by Ethics?



25.fvaerd THIOT ¥ 31U R A & 7 2

What do you mean by cosmological proof?

26. 9991 IR AR H <R qaesy | 2
Distinguish between profession and business.

27.17em &1 Sevy FAT 8? 2
What is the objective of Education?

28.ABIR JEgare dl gR¥IET < | 2
Define popular realism.

29,311 BT HHART T B° = o | 2
What is karma yoga of Gita? Discuss.

30.9%F BT gadrdl T2 I bad © ? 2

Why is samkhya called a dualist Philosophy?

e IR W2 / Long Answer Type Questions

To7 G&T 31 H 38 T GG &/ 15T v 5e & GV &/ FAB P [V 5
3% [FERT 8/ 3ifdpaq 100 vl d Fcdd & &/

4x5=20

Question Nos. 31 to 38 are Long Answer Type. Answer any 4 questions. Each

question carries 5 marks Answer in not more than 100 words each.

3x5=15

31. AR B IATAR IMMHAT DI JTIRO BT oI DN | 5
Describe the concept of soul according to Shankara.

32, PIC b FHIAMR B ARAT P | 5

Explain the criticism of Kant.
33. SR & IR & Few H HAfde Jfdd BT auid N | 5

Describe the moral argument for the existence of God.




34.

35.

36.

37.

38.

g€ & fadi o 9 @ et 9 |
Explain the second Noble Truth of Buddha.
S b Sd & wU H AN & =g g & gl |

Describe the Nyaya theory of Anumana as a source of knowledge.
HI—IRR g B AT N |
Explain mind-body relation.

TITeRof e & WY & ARAT BN |

Explain the nature of Environmental Ethics.

oyt B IR BN |

Explain purushartha.



